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Question 1 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

For each question, four options are given. One of them is the correct answer. Make your choice
and choose the correct answer. (28 x 2 marks)

Siudy the flow chart balow.

Which cne of the following is classified comeactly?

A A B |C D

reptile | fish | amphibian | bird

B. [A B c |p
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|mamma| | amphibian |fish | reptile |

C. |[a B c D

insect | reptile | mammal | bird

v D. |a B |C D

mammal | fish | reptile | bird

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,163,889

Question 2

Which one of the following animals is not an insect?

A.

https://www.classmarker.com/a//tests/test/?test_id=1824054
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,163,899
Question 3 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

A B, Cand D are the slages of the e cvcle of an insed.

=)
o

Al stage A, it does not fead, mowve or mowit
Wihich one of the following represents the stages of the Be oycle of the insact?
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A Ja |B |c |bp

egg | larva | pupa | adult

adult | egg |larva | pupa

pupa [adult | egg | larva

D. A (B |c |D

larva | pupa | adult | egg

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,163,922
Question 4 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Kumar placed an equal number of seeds of the same type In hwo identical beakers.
E=ch bealer was exposed 10 diferent sed of conditiors as shiown balow,

sgad sead
maist cothon - il codlan

Beaker X Beaker ¥

I Mear & windew In a roam ” in the freezer

Kumar gbserved thal the seecs in one of the beakers had germinated.
Which one of the foliowing explanalions of Kumar's chearsation & cormact?

A. | Beaker|Observation Explanation

X Seeds germinated. | Air, water and sunlight were present.
v B Beaker | Observation Explanation

X Seeds germinated. | Air, water and warmth were present.

C. |Beaker|Observation Explanation
Y Seeds did not germinate. | Light was absent

D. |Beaker | Observation Explanation
Y Seeds did not germinate. | Only water and warmth were present.
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Question Type:
Randomize Answers: No

Question 5

Multiple Choice

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,163,950

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Term 2)

The disgrams balow show the plant and female human feproduciie syslems.

Plant reproductive system

o :
E_: .I,'%_.L.__q__

YR S,

byl i

.:E §-

||:' i

el

| Female human reproductive system

Which ans of the foliowing carecly dent®as the pars whare faifeaton lakes
place in tha plant and humen reproductive systems?

A. |Plant Reproductive System | Human Reproductive System
A C
B. |Pplant Reproductive System | Human Reproductive System
A D
ve Plant Reproductive System [ Human Reproductive System
B C
D. |plant Reproductive System | Human Reproductive System
B D

Question Type:
Randomize Answers: No

Question 6

A The nuclei fuse.
B A sperm enters the egg.
C The fertilised egg divides.

Muiltiple Choice

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,163,968

D Other sperms fail to enter the egg.
E The sperms swim towards the egg.

https://www.classmarker.com/a//tests/test/?test_id=1824054
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The statements below describe the process of fertilisation at different stages.

Which one of the following identifies the correct arrangement of stages involved in fertilisation?

2 pts

2 pts
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A | qst Stage Last Stage
A C|D|E|D
B. st
15% Stage Last Stage
B A[D|C|E
C. st
15t Stage Last Stage
D B|A|C|E
V' D. |gst Stage Last Stage
E B|D|A|C
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,163,997
Question 7 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

The fiow chart balow shows some pasts af the human body systam(s) X, P and O
arg substances found in 1he biood taken from the small ntastine.

SYSTEM(S) X |

mouth |

e

e P
all paris of the body |

—

Q —_—
emall infesling s | lEE inteskne
ca |

l

aut of the body

Which ona of the following best represents P, O ant =7

[ I I |
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A. |Substance P

Substance Q

System(s) X

oxygen

carbon dioxide

respiratory

ClassMarker - Manage Test

B. |Substance P |Substance Q System(s) X
carbon dioxide | oxygen circulatory
C. |substance P Substance Q | System(s) X
digested food | water digestive and respiratory
v'D Substance P | Substance Q | System(s) X
digested food | undigested food | digestive and circulatory

Question Type:

Question 8

Pl as &

cardbeand
SLIpnOm

liwper ol oil

WENr

Multiple Choice

Fawam belerey,

Randomize Answers: No

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,164,014
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Primary 6 Science » Primary 6 Science (Term 2)

Benjamin pliced four planis in deaticsl jars, each containmng waber o e same

Hia than placed b lour gal-vps, A, B, Cand D, nest o the wirdow Tor an Bour.

Fig

Setasp &
A1 Faend of the axperiment, Bonfamin maasured tha height of the walnr
lewed, B, i ach jar.

Set=up B

Set-up C

Set-up A | Set-up B | Set-up C | Set-up D
250 195 180 170

B. Set-up A | Set-up B | Set-up C | Set-up D
180 170 195 250

v C. Set-up A | Set-up B | Set-up C | Set-up D

https://www.classmarker.com/a//tests/test/?test_id=1824054

Set-up D

Wihich of the followng comactly shows the haight of water in set-ups
A, B, Cand D7

A. Height, h, of the water left at the end of the experiment (mm)

2 pts
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170 180 250 195

D. Set-up A | Set-up B | Set-up C | Set-up D

195 250 170 180
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,035
Question 9 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

The disgram balow shows & plant call,

The statements beiow are some stofements about the pats of the above o,

Controls all sctivities within the cedl :
Capiures sunfighi for plants bo make fod
Supporls ared pives the ool ils shape
Contnols the mowvemant of subslances i and out of the |
il

Fumctions 1
|
1

]
ol 3 || o2
#

0w

Which of the fo¥owing have pars thal match with thair functions comactiy?

A. BandConly
A and D only
v ' C. ABandC only

D. A, B,CandD

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,164,041
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Question 10 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Thea diagrams below show the human clroufatory sysiem and the plant transpod

Human circulatory system Plant transport s5ystem

Which one of the falkewing statements about 1he two Systems is rue?

A. Both break down food into simpler substances.
Both lose water in the form of water vapour only.
C. Both take in oxygen and give out carbon dioxide only.

v’ D. Both transport nutrients and water to the different parts.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,047

Question 11 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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The diagrams below show how grsos aro transparted in the biood through
blocd vesaets, P, Q, R, W, X ¥ and Z, Inthe circulalony syatems of a fish and
@ man,

Circulatory system of a fish
BY — =

‘3“;—; Heat |#————  Body
I x 2

Clreulatory system of 2 human

w X
FE—— abher paris
L ¥

Baged an Ihe dingrams above, which of the follksing slalemanis) B 1 ane cormect?

A W, X, and P camy blood rch in ceoypan.
B R, Q, ¥ and 2 Gammy blead rich in carbon dinxide

L Tha hesrt is nasded to pursg oaygen Trom the glils & the body of the
fish.

A. Conly
v B. Aand B only

C. AandConly

A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,056
Question 12 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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Sarah wanied to fing out f carbon dioxide b nesded for pholnsynthesis. Sha
propared four sal-ups, A, B, Cand O, ac shown balkre,

. [fasE
bax
[~ plant plank
|
|
- |
|
glass
boisd
e —
black |
— planil T planl
| substance suhstance
| L o remove L o remova |
| carbon =k carben
dicuids diaiide
|
|
| Set-up & Set-up D |
L R I I

v A. Aand Conly
B. AandBonly
C. BandConly

D. CandD only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,164,060

Question 13

https://www.classmarker.com/a//tests/test/?test_id=1824054

Which of the abhove sedups showd Sarah use o corducs ber experiment 7

Primary 6 Science » Primary 6 Science (Term 2)

2 pts
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Wood is used as busding materials to baild houses as shown balow,

Houses bulll wsing wood can withsiand the force of strong wind and heawy rain,
Why s this sa?

A. Wood is flexible.
¥v' B. Wood is strong.

C. Wood is opaque.

D. Wood is able to float.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,065

Question 14 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

A cubs containg some waler and &ir as shown in the diagram balow,

M ————  walar

Peter vsed a syringe 0 remove soms air from tha cube,
Which one of iha feflowing shcrws the changes in the wolume and mass of the air in
the cube afier soma air has been mmovaed?

Volume of air | Mass of air

decrease decrease

B. |Volume of air | Mass of air

decrease remains the same
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C. | Volume of air Mass of air

remains the same | remains the same

v D. Volume of air Mass of air

remains the same | decrease

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,164,075

Question 15
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Primary 6 Science » Primary 6 Science (Term 2)

Charyl has & containgr fillad with & mixture of bwo substancas, X and ¥\
The tabla balkow shows tha malting point and beding painl of the substanses,

" SBubstance | Melting point [°C) Boiling point {*C]
x | el i i}
Y | 420 5T

becomes a liquid and the olher subsiance becomes a sofd?

v A. 300°C

B. 500°C

C. 800°C

D. 900°C
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,080

Question 16

https://www.classmarker.com/a//tests/test/?test_id=1824054

Al whal temperabpte should Chend heat the mixbese such thal one substance

Primary 6 Science » Primary 6 Science (Term 2)

2 pts
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A

——
- ——
—

o

VI
e

)

A A

B

v C C
D. D

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 17

Question Type:
Randomize Answers:
Date Added:

&

‘Which one of b bulbs can ba controded by She swilch?

Multiple Choice

No

Tue 28th Sep 2021
N/A

29,

164,084

Study tha circoit disgram below carefully.

(G——

— | | ——

Multiple Choice

No

Tue 28th Sep 2021

https://www.classmarker.com/a//tests/test/?test_id=1824054
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The: diagram below shows the armngerment of four bulbs, A, B, C© and &, in a cirouit

Primary 6 Science » Primary 6 Science (Term 2)

Four objecte, L, M, N and O, ars connecied o the eircull. One of them (g a non-
conductor of efactricity whis the others are conductors of alecticiy. Whan the gwitch
i coged, only e bulbs Gghl up,

Which one of the following objects is a non-conductor of edactTicity?

2 pts
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Last Modified: N/A
QID#: 29,164,095
Qu estion 1 8 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

‘Werely bung four mapnets, P, 0, R and 5. above a fray aof identical ion pins. Her
ohssnmbcn s shown balow.

i
P \ R ! _
plastic ray
N I.:_j“ !HI s!l-_!!I E!P'EIE Ei ilf

‘ihich of the folivwsng stalemenls e comect?

Magrat £ is tha strangast magnal

Megnel P s weaker than Magnsl R

Magniet R i8 etronger than Magnat 0.

Both Magnats P eed O have the same strangth.

L= 5 R

v"A. AandBonly
B and D only
C. A,BandConly

A, C and D only
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,097
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Peler Gycles along the path shown bedow.

Which of fhe Bllowing ststement(e) isfare comact?

& Hs lowsars his body and head to reduce akr resistance in order to cyche fagter,
=] He loweers s bady and head b Peiease alf resistanos n onder 1o cycle

Ii‘. Hi finda it harder 1o gycle up Sope becsuss e s maving ageinsat the
direction of gravity,

] Ha finde it harder 1o cycle wp slops haceuse ha la moving in the sama
direction of grawiy.

A. Aonly
B only
v C. AandC only

D. BandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,101

Question 20 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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Marcis sef up tha sepanmand a8 shown below, He sach identlcal wooden block
o & gl conl&iner. Meat, he placed lhe wooden blocks on four different serfaces
Iadnailad M, M, Pand

Marcus added 10g-weight ane by one inte each container untll the wooden block
attached siarted 1o slbde acrass the sirface, He recorded tho results in the table

below.
Surface Mumber of 10g-weights required
for biogk to start sliding
[ a
M 2
P 10
] 5

Eased on the information abosve, which of the falioedng statementis) isfare comect?

A Surdeca M ts amoother than P bul reughar than W and G,
B Mosk gravitatonal force i ectirg on the Black siding on surfanes P

L Frclicnal fonca batwaen the wobdan Diock and surizce ned to ba ovacome
beefore iE staried sliding.

0 The mirimum armount ol weights required fo mows the wooden block an suiace
N5 205

A. Aonly
B. Bonly
C. BandConly

v D. A, CandDonly

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,106
Question 21 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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Cathaime dmppad fwo Bals, M and M, of tha sams e ima a tray af flour from 1he
same haight 8 shown below, Ball M has & greaser mass than ball b,

Shes reconded e depth of the denl mede by Me balls &1 b Iriay of flour in the bl

Bedow.

“Dapth of dent [cm) ]
| Ball 1= iy ™y 3 try Average
(¥ ] 3 _ i5 as i 333
|~ W 7 5 7 | 7

Based on ihe information sbove, which of the folkiving staiemantia) istare defnksly
TOmECt?

A Mare tclisnal foroe was acting on M than N
B Miare amourd of grenitafional fore was acling ofrS than M,
C The aversge depth of fhe denl meds by ball Kwould be leas than 3 3%,

A. Bonly
C only
C. AandBonly

v D. BandC only

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,111
Question 22 Primary 6 Science » Primary 6 Science (Term 2)
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Study the dlagram Defow,

& 'q g D L |

Alles fowtmuck  Bang Humt Lily

Fodir ehdidran ard mwe of thair loys ane separaled by screans, A, B, C, D and E.
Ghven thal e soraens are made aof diffareat malerials, the Tofowing resulls weane
reporded;

v Tiowm b5 unable fo see Alics.

«  Lily & umabla to sae the toy fruck.

= Alice can sed both the teddy bear and the oy frucs,

Baszed on the information above, which one of the foliowing could possibly be
e materisls hal have bean ussd o make (he sormens?

A A B |C D |E

clear plastic | metal | clear plastic | wood | clear glass

VB |a |B c D |E

wood | clear plastic | clear glass | metal | clear plastic

C. |a B c |bp |E

clear plastic | clear glass | metal | wood | clear glass

D. [A |B |c |b E

metal | metal | wood | clear plastic | clear glass

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,129
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Gary cull oul hales of diferenl shages and ses in lhe centre of thres squares, X,
¥ and 2, which ara made of plaghe, wood and tracing peper raspestively

plaslic oo

Iracing papear

Waxt. Gary shane light on the three shepes using the setup balow Tha thres
shepae are pleced at diffenant dislances fom ihe 1o

|
] [ ]

Torch Light XY

Eorann

The diagrams below show what was sern an tha screen

Which one of he oliveing shadoes s most Bealy o be formed on the soreen?

A.
v B
C.
D.

https://www.classmarker.com/a//tests/test/?test_id=1824054
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Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,140

Primary 6 Science » Primary 6 Science (Term 2)

Question 24

Natalie santed (o make a shirt to keep her warm on cold days. 5he wrappad four
matdnails, A, B, C ard D around éach ikenlical containgr covarsd with a lid. Each
comtainer was filled with the same amount of ot waler 22 shown Below.

thermamater
|

|
Materiad G

Material A

Halalie recordad the iemperaiue of the watsr al the stan of the expaimsnt and
twanty minutes leter, The results of her experimeant are racosded belo,

Time __Temperature of water [°C} in container s with ...
(i) Material A | Material B Material C iatarial O
T | 60 8| A0
20 ¥ s | @ | o ‘|

Basad on the mesulis, which ckoth material showk Matskbe choose for making tha shird?

A. A
v B. B
C. C
D. D

https://www.classmarker.com/a//tests/test/?test_id=1824054
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,144

Question 25 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Hannath attached two cups, W and X, on a balanced rod & shown below.

Cup W '| Cup X

Hs placed a candle bedow Cup W and observad the following tan minutes
laber,

Cug X

b—FIEm
Candleﬂ

Threa of hie clasematee gave the lollowing explanalions far the above
absansalions:

Ay Cup X Is made of a betler conductor of heat,
Betty : The air above the candle flarme gairesd Faal
Cody @ The air above the candle flame rose,

Which of his clazamates comecily explained the obsendation?

A. Betty only

B. Cody only

C. Alex and Betty only

v' D. Betty and Cody only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,151
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Question 26

disgram bk,

stesl clip ___

‘fran biar

81

,_

¥ A. be attracted to the iron bar
B. be attracted to the copper bar
C. remain in its original position

D. be attracted to the copper bar and then to the iron bar

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,164,162

Question 27
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ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Term 2)

Serene placed a siesd clip betwean 2 afecincal circuils, A and B, as shown in the

Copper bar

‘Whan Serane clsed switchas 51 and 52 at the same tme, which one of the
{oliowing observations would she maka? The stas| cip would

Primary 6 Science » Primary 6 Science (Term 2)

2 pts
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Dermvy was playing on 8 swing a8 shown in the dlegram below.

ClassMarker - Manage Test

Wiich one of he folkeving slalements & true when Denny swung from position A o
E and then o CF

The potential energy at A, B and C are the same.

Potential energy was the highest at A and was lost at B.

Kinetic energy increased from A to B and again from B to C.

Kinetic energy increased from A to B and decreased from B to C.

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,164,174

Question 28

The pichire befow shows & solar panal which B found on the reof of 8 housa.
The solar panel is connactad to tha welar haeater in the bathroom,

Which of the following shows the osrect sRengy conversion, 1aking pace from

the eolar panel to the water neatery

potential energy ----- > light energy ----- > heat energy
light energy ----- > electrical energy ----- > heat energy
kinetic energy ----- > electrical energy ----- > heat energy

electrical energy ----- > chemical energy ----- > heat energy

https://www.classmarker.com/a//tests/test/?test_id=1824054

Primary 6 Science » Primary 6 Science (Term 2)
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 29

Multiple Choice
No

Tue 28th Sep 2021
N/A

29,164,202

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Term 2)

Sam conducted a fieild shady on the seed dispersal of plands P and 2, He reconded
hig obspanmtions an tha dsiribution of seede by tha plants in tha diagram balow.

Accepted answers:

v’ Splitting

Question 30

State the method of dispersal of plant P.

Question Type: Free Text

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,366

: parant plard P

: parent pant O

: plant P |
! pland

. wired direchion

Primary 6 Science » Primary 6 Science (Term 2)

Sam conducted a fieild shady on the seed dispersal of plands P and 2, He reconded
hig obspanmtions an tha dsiribution of seede by tha plants in tha diagram balow.

Accepted answers:

v By wind

https://www.classmarker.com/a//tests/test/?test_id=1824054

State the method of dispersal of plant Q.

: parant plard P

: parent pant O

: plant P |
! pland

. wired direchion

0.5 pts

0.5 pts
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v wind

v animal

Question Type:
Date Added:
Last Modified:
QID#:

Question 31

ClassMarker - Manage Test

Free Text

Tue 28th Sep 2021
N/A

29,164,376

Primary 6 Science » Primary 6 Science (Term 2)

Sam conducted a fied study on the seed dispersal of plands P and . He ecorded
hig nbeanmtions an tha dsiribution of seede by tha plants in tha diagram hakw

Question Type:
Date Added:
Last Modified:
QID#:

: 2 parant plarg P
" _-;‘ P @
/_,—/"—/ . : parent plant £
rivgr ; f E
F.onmar i ' | & cpanP [
Wi B ’ . cplasio
& N
\« ; wired direcion

Give a reason for your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Essay

Tue 28th Sep 2021
N/A

29,164,384

Correctly answered feedback

Plant P was dispersed very close to the parent plant P.

Incorrectly answered feedback

Plant P was dispersed very close to the parent plant P.

Primary 6 Science » Primary 6 Science (Term 2)

Question 32

https://www.classmarker.com/a//tests/test/?test_id=1824054

0 pts
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Sam conducted a field shady on the seed dispersal of plands P and 0, He meconded
hig nbearmtions an tha dstributian of seade by tha plants in tha diagram hakow

"G A7 |5 —

I.-" rhvgr

\ ; wired direckion

State one physical characteristic the fruit of Q is most likely to have that helps in its dispersal. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,402

Correctly answered feedback

Wind: Wing like structures.
Animal: Fleshy, brightly coloured, hook-like structures

Incorrectly answered feedback

Wind: Wing like structures.
Animal: Fleshy, brightly coloured, hook-like structures

Question 33 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Tha graph balow shows the amount of undigested food as it goes though tha diffarent

paits ol the dipasiwe sysiem.
Amount ﬁIT : : I i
'l_n'iﬂlitld i { I
1.3 i i H i
S : f
A B c o E
Parts of digestive systam

Based on the graph, in which part of the digestive system, A, B, C or D, was the greatest amount of

https://www.classmarker.com/a//tests/test/?test_id=1824054 27159
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food digested? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,421

Correctly answered feedback

Part D. There was the greatest decrease in the amount of undigested food in part D of the digestive
system, indicating that Part D digested the most amount of food. Digestion takes place at the
greatest rate at the small intestine.

Incorrectly answered feedback

Part D. There was the greatest decrease in the amount of undigested food in part D of the digestive
system, indicating that Part D digested the most amount of food. Digestion takes place at the
greatest rate at the small intestine.

Tha graph balow shows the amount of undigesied food as i goes ibough tha diffament

pants ol the digasive sysiem.

Amaount nr‘I' : : [
'I_TII-JlﬂIItId i i i
g : : i i

! F
Eo ]
A B = D E
Parts of digestive systam

Which part of the graph represents the large intestine? Give a reason for your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,431

https://www.classmarker.com/a//tests/test/?test_id=1824054

Qu estion 34 Primary 6 Science » Primary 6 Science (Term 2)
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Correctly answered feedback

E: There is the least amount of undigested food left. Amount of undigested food remains the same.

R: No digestion takes place in the large intestine so E represents the large intestine.

Incorrectly answered feedback

E: There is the least amount of undigested food left. Amount of undigested food remains the same.

R: No digestion takes place in the large intestine so E represents the large intestine.

Primary 6 Science » Primary 6 Science (Term 2)

Question 35

Feter conducted an expearirment shown bebow in a dark room. He then repeated his
experimant by edding some water snalls.

siafed ang of
Eyrirge
a5
syringa
— glass jar
viahar plaoi
Ha recorded his reseit in the tabde balow,
| Mumber of bubbles produced per minute |
[ Distance of lamp Withousl water nail With water nails
from water planifem) | o MR O
. v 16 18
0 11 14
15 [ 10
it i &

In the absence of water snail, the number of bubbles produced decreases as the distance from the
lamp increases. Explain why. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type:
Date Added:
Last Modified:
QID#:

Essay

Tue 28th Sep 2021

N/A
29,164,441

Correctly answered feedback

The water plant receives less light from the lamp, causing the rate of photosynthesis of the plant to
decrease. Thus, it produces less oxygen bubbles.

Incorrectly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1824054
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The water plant receives less light from the lamp, causing the rate of photosynthesis of the plant to

decrease. Thus, it produces less oxygen bubbles.

Qu estion 36 Primary 6 Science » Primary 6 Science (Term 2)

Feter conduched an expeaiimend shown bebvw in a dark reom. He then repeated his
experimant by edding some waler snalls.

sepied ong of
iyt
oas
- syringn
: - giass jar
H = &
1|I\"‘ g — viater plaod
delance
Ha recorded his resuit in the tabda balow,
| Numberof bubbles produced per minute |
[ Distanes of lamp Withoart wrater smadl With water =nails
 fromwaterplandemy |
= _5_ = 16 * s 19
;I{:I 11 14
15 £ 10
20 F B

Explain why there was an increase in the number of bubbles produced water snails were present. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,461

Correctly answered feedback

The water snails produced carbon dioxide during respiration. With more dissolved carbon dioxide in
the water, the water plant had a higher rate of photosynthesis, thus producing more oxygen
bubbles.

Incorrectly answered feedback

The water snails produced carbon dioxide during respiration. With more dissolved carbon dioxide in
the water, the water plant had a higher rate of photosynthesis, thus producing more oxygen
bubbles.

https://www.classmarker.com/a//tests/test/?test_id=1824054
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Question 37 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Feter conduched an expeaiimend shown bebvw in a dark reom. He then repeated his
experimant by edding some waler snalls.
sepied ong of
Hytings
Zas

£ syringm

P - [ giass jar

5 g = viater plaod

Ha recorded his resuit inthe tabde balow,

| Wumber of bubbles F‘Mﬂﬂ cod per minute |
[ Distance of lamp Withoul water snail With water snails
 fromwaterplamtfern) |
T T 16 = 18

i0 11 14

5 ] 10

20 i -

Peter conducted the experiment in a dark room. Give a reason why this helped to make the experiment
a fair test. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,473

Correctly answered feedback

It prevented light from external light sources from affecting the rate of photosynthesis of the plant,
ensuring that the number of bubbles produced per minute by the water plant was due solely to the
light it received from the lamp.

Incorrectly answered feedback

It prevented light from external light sources from affecting the rate of photosynthesis of the plant,
ensuring that the number of bubbles produced per minute by the water plant was due solely to the
light it received from the lamp.

Question 38 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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Kennis used the sat-up bakvw to find out whethar water plants sifect the amount of
carbon dioxide in water at difforant times of the day.

L wader plant

e

[ waier with ligud X

She placed he set-up near the window and added o few draps of a liguld ¥ to the
watar. The iabia balow shows how Liguid X changes colour as i imesacted with tha
differe:nt concentration of carbon dioxide in ihe weler.

Amount of
carbon dioxide in waler Less than Mormal Highar than
fom™) rormal normal
Colour of water with Punle | Red Fellow
| ligusid X |

In the table below, write the colour of water with liquid X be at noon and at midnight.

Clue Match

Time of the day At noon Purple

Colour of water with liquid X

Points: +1 =0

Time of the day At midnight Yellow

Colour of water with liquid X

Points: +1 =0

Incorrect match option Red

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,506
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Kennis used the sat-up bakvw to find out whethar water plants sifect the amount of
carbon dioxide in water at difforant times of the day.

e

[ waier with ligud X

Sha slaced e sel-up near the window and added a few draps of a liguld ¥ 12 the
watar. The iabia balow shows how Liguid X changes colour as i imesacted with tha
different concentration of carbon dioxide in the weler.

Amount of
carbon dioxide in waler Less than Mormal Highar than
fom™) rormal normal
Colour of water with Punle | Red Fellow
| ligusid X |

Explain your answer provided for "at midnight" in the previous question clearly. (2 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,530

Correctly answered feedback

At midnight, there was no sun. The water plant did not receive any light to undergo photosynthesis,
so it did not take in carbon dioxide. The plant took in oxygen and gave out carbon dioxide during
respiration, causing the amount of carbon dioxide in the water to be higher than normal and thus
turning the water with liquid X yellow.

Incorrectly answered feedback

At midnight, there was no sun. The water plant did not receive any light to undergo photosynthesis,
so it did not take in carbon dioxide. The plant took in oxygen and gave out carbon dioxide during
respiration, causing the amount of carbon dioxide in the water to be higher than normal and thus
turning the water with liquid X yellow.
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Tha dendea befiow ks used in soma countrias to cbtain pure dinking water from the
surrnurding air. The selar pemel which is stleched be the Tan, pewers the fan. Ak from
I sumounding will ba deawn undargroand through tha underground slanted pepes
when he fan rotales. Pure drinking wales obisived by this malbod coudd be pumped
abowe (he grourdd with tha-help of the pump attached.

Buried pipa to obialn pure drinking satar

Bodar
malst alr sritars

——= ‘walar droplels

Slanfed undaground pips

The temperature of air above the ground ranges from 18°C to 46°C while the temperature underground
ranges from 7°C to 18°C. Explain how water can be obtained from the air that passes through the
pipes. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,547

Correctly answered feedback

The water vapour in the air from above the ground comes into contact with and loses heat to the
cooler inner surface of the underground pipe, condensing into water droplets.

Incorrectly answered feedback

The water vapour in the air from above the ground comes into contact with and loses heat to the
cooler inner surface of the underground pipe, condensing into water droplets.
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Tha dendea befiow ks used in soma countrias to cbtain pure dinking water from the
surrnurding air. The selar pemel which is stleched be the Tan, pewers the fan. Ak from
I sumounding will ba deawn undargroand through tha underground slanted pepes
when he fan rotales. Pure drinking wales obisived by this malbod coudd be pumped
abowe (he grourdd with tha-help of the pump attached.

Buried pipa to obialn pure drinking satar

Bodar
pansl malst alr enters

——= ‘walar droplels

Slanfed undaground pips

One way to collect more water using this device is to pass more air through the inlet. Suggest two other
changes to the device that would enable it to collect more water over a fixed period of time. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,561

Correctly answered feedback

- Increase the surface area of the solar panel

- Add more solar panels to the set-up

- Increase the length of the pipe

- Have the pipes deeper underground so that the temperature is lower than 5 degress celcius.

Incorrectly answered feedback

- Increase the surface area of the solar panel

- Add more solar panels to the set-up

- Increase the length of the pipe

- Have the pipes deeper underground so that the temperature is lower than 5 degress celcius.
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A beakoer of it was heted and the changs in femperature was recorded i the
greph badow.

Temparalura [“C)
I z

100

0 1 2 3 4 5 1 T ] g 1
Tl (i)

Name the process that is represented by part X of the graph.

Accepted answers:

v Melting

Question Type: Free Text

Date Added: Tue 28th Sep 2021

Last Modified: N/A

QID#: 29,164,569
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A beakoer of it was heted and the changs in femperature was recorded i the

100

0 1 2 3 4 5 1 T
Tl (i)

Name the process that is represented by part Z of the graph.

Accepted answers:

¥’ Boiling

Question Type: Free Text

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,576
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greph badow.

Temparalura [“C)

k.

100

ClassMarker - Manage Test

A beakoer of it was heted and the changs in femperature was recorded i the

another.
v A. PartX
v B. PartY
v C. PartZz

Question Type:
Randomize Answers:
Grade style:

Date Added:

Last Modified:

QID#:

Question 45

2 3 4 5 1 T ] g 1
Tl (i)

Choose below from parts X, Y and Z to indicate if there is heat gain as water changes from one state to

Multiple Response

No

Full points if all answers are correct
Tue 28th Sep 2021

N/A

29,164,612
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A beakoer of it was heted and the changs in femperature was recorded i the
greph badow.

Temparalura [“C)

I Z
100

0 1 2 3 4 5 1 T ] g 1
Tl (i)

The burner was not switched off throughout the experiment.
Suggest one reason why there was a decrease in temperature after the 8" minute. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,619

Correctly answered feedback

Some water or ice had been added to the beaker.

Incorrectly answered feedback

Some water or ice had been added to the beaker.
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The circuits below are 56t up with differant matensals, B, F, Gand H.

& &

Set-up A Set-up B

_‘@? X
j ; 5 F
|1 il

Sel-up C Sal-up D

The msulls of tha 3 sel-ups, A, B and C, ara shown in the table below,

| Set-up " Does the bulb light up7
Mo
B ' Yes
Yes

Will the bulb light up in Set-up D? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,632

Correctly answered feedback

No, it will not. G is an insulator of electricity and no electricity can pass through G, forming an open
circuit. Thus, no electricity can flow through the bulb, causing it to remain unlit.

Incorrectly answered feedback

No, it will not. G is an insulator of electricity and no electricity can pass through G, forming an open
circuit. Thus, no electricity can flow through the bulb, causing it to remain unlit.
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The circuits below are 56t up with differant matensals, B, F, Gand H.

& &

|
Il il

Sel-up A Set-up B

&

| nr
Set-up C Sal-up D
The msulls of tha 3 sel-ups, A, B and C, ara shown in the table below,

Set-up Does the bulb light up7
No
B | Yeq
Yes

The matarials E, F, (G and H are connacted In another cireall as shown below,

R

-®

B2
& .
B3 B4 BS

— &

In the circuit diagram above, write E, F, G and H in the correct box so that only three bulbs in the circuit

https://www.classmarker.com/a//tests/test/?test_id=1824054
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to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A

QID#: 29,164,645

Correctly answered feedback

_._|r|||].

ClassMarker - Manage Test

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

Incorrectly answered feedback

_._|r|||].

[l

M L R

Question 48
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Chis placed 3 ing maonets throngh & plastic nod. Each ang magnat has & N-polke
arel 5- pole a5 shown Bk

Mepole
e d S-pole

Magnead A

Shade and label the N-pole of the magents B and C in the diagram below.

(1]
pastic rod
M-

Magnet A il .

e =

&C

hagnet B are 3

L= -
Magnel &

— = f

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,658

Correctly answered feedback

pasiic rod
— HN- pode
NRagreel A
M- pole
Magnet B F
Bagnet = M- pole

Incorrectly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1824054

44/59


https://0cm.classmarker.com/10070943_GTDQ8K2C.jpg
https://0cm.classmarker.com/10070943_W887GAGH.jpg

10/31/21, 1:27 PM ClassMarker - Manage Test

] plastic rod
— N- pole
hagrml A
M- pole
Pagret B P
Magnal C " M- pola
I ]
Question 49 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Chils placed 2 ring maonets throwgh & plastic rod. Each ring magnat has & M-pols

#rel 5 pide g5 sEhowm Bakng
m—
R | S-pile

Pyraad A

What should Chris do to make magnet A 'float' above magnet B? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,674

Correctly answered feedback

He should flip it over such that the North-pole of magnet A is facing North-pole of magnet B. Their
like poles will face, causing A and B to repel each other. This will allow A to 'float' above B.

Incorrectly answered feedback

He should flip it over such that the North-pole of magnet A is facing North-pole of magnet B. Their
like poles will face, causing A and B to repel each other. This will allow A to 'float' above B.
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dames carmied oul an expeiment on bwo differend toy helicopiers, A and B, using tha
Sad-up shown belo.

| toy halicopter ‘M"‘Ef' af helicaptar

i E | . ‘H-.,_‘H‘
o
I S
: R e ¥

digtance (em)

He launched the halicopler A &t an angle His results are shown biekow.

Attempts Distance [om)
e ——— g — —
2o a70
Ee—gte— R

Give a possible reason why the distance moved by helicopter A was different for each attempt. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,688

Correctly answered feedback

He launched helicopter A at a different angle for each attempt.

Incorrectly answered feedback

He launched helicopter A at a different angle for each attempt.
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dames carmied oul an expeiment on bwo differend toy helicopiers, A and B, using tha
Sad-up shown belo.

| toy halicopter ‘M"‘Ef' af helicaptar

i E | . ‘H-.,_‘H‘
o
I S
: R e ¥

digtance (em)

He launched the halicopler A &t an angle His results are shown biekow.

Attempts Distance [om)
e ——— g — —
2o a70
Ee—gte— R

Name two forces that were acting on the helicopter when it was moving. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,699

Correctly answered feedback

Gravitational force and air resistance between the helicopter and the air.

Incorrectly answered feedback

Gravitational force and air resistance between the helicopter and the air.
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dames carmied oul an expeiment on bwo differend toy helicopiers, A and B, using tha
Sad-up shown belo.

oy halicopter g: af helico
-H"‘--\. |:I1E'I"
e

fEl
I N H\'"‘
o ™

I b

digfance (em)

He launched the halicopler A &t an angle His results are shown biekow.

Attempts Distance [em)
e I e - ]
20 a70
— as | aso |
e o e s =

The average distance moved by the 15g toy helicopter A is 350 cm. If James launched a 35g toy
helicopter B in the same direction with the same force, draw the path of toy helicopter B on the diagram
above using the same starting point at X. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,717
Correctly answered feedback
ﬁ = L e i % -1
e = e
B =~
{ i o= ey H . .
‘-”.:’.ﬂ. iﬂgl‘:aﬂmpﬂer ™~ path of heficopter
) 5 ~,
it .I!I W T
.'III,‘ | ko
E ; i
-1 - ! * ¥
- ——— — = S
dstance [cm)
Incorrectly answered feedback
ﬁ X p———,
= — e S
AT P .
b ~ foy helicoper T~ .
oy k"{.\ . . path of halicopter
e N, g
i L i
& | .
#71) | N
i = l. s
- —— — - —_——
disiance [em)
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Question 53 Primary 6 Science » Primary 6 Science (Term 2)

Peter wanted to find out hew the surface srea of 2 parachate affected the time taken
for him to run five meters with it

The dingraem below showes Pebar runnieg wan me parascnule

\ } parackute
S 1

Pater recordad his eadings i tha table balow,

" Burface ares of parachube ( cn®) | Time taken o complete five meires s)

! (3T 20
1000 ] zn = |
1100 = T — &
1200 45
1300 E4

Question Type:
Date Added:
Last Modified:
QID#:

increases.

increases.

Based on the information above, what is the relationship between the surface area of the parachute
and the time taken to complete the five-metre run? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Essay

Tue 28th Sep 2021
N/A

29,164,734

Correctly answered feedback

As the surface area of the parachute increases, the time taken to complete the five-meter run also

Incorrectly answered feedback

As the surface area of the parachute increases, the time taken to complete the five-meter run also

Question 54 Primary 6 Science » Primary 6 Science (Term 2)
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Peter wanted to find out hew the surfate sres of 2 parachate affected the tlme talen
bor him to run five meters with it

The dingraem below showes Felar runneg wan e parsenula

} parachuie

Paler recordad his madings i tha table balow,

L

" Burface ares of parachiite [ cm® ) | Time taken o complete five meires {s)
EOD 20
1000 ] ) =
1100 —— = — =
1200 45
1300 £4

Peter cut a few holes on the 1300 cm? parachute and then ran with it.

Would the time recorded for Peter to complete running 5 metres be "more than", "less than" or "the
same" as 59 seconds? Explain your answer clearly. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,761

Correctly answered feedback

Less than 5.9 seconds. Cutting holes in the parachute reduced the surface area of the parachute
exposed to the surrounding air, causing there to have less air resistance between the parachute
and the air, enabling Peter to run faster than before.

Incorrectly answered feedback

Less than 5.9 seconds. Cutting holes in the parachute reduced the surface area of the parachute
exposed to the surrounding air, causing there to have less air resistance between the parachute
and the air, enabling Peter to run faster than before.

Question 55 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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ey was wallching {ekeviion al position B in a dark room as shown baiow,

A m..

- ; —
] |

A B c ]

Why was Jerry able to see the television screen in the dark? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,838

Correctly answered feedback

Light from the television reached Jerry's eyes, allowing him to see the television screen.

Incorrectly answered feedback

Light from the television reached Jerry's eyes, allowing him to see the television screen.

https://www.classmarker.com/a//tests/test/?test_id=1824054
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ey was wallching {ekeviion al position B in a dark room as shown baiow,

A m..

Tomn measued the length of the shadow cast on the wall as Jermy moved from Position

Ala D,
In the tabla bedow, wrile the length of the shadow when Jermy was at Position C.
[1]
| Jarry's position Length of shadow cast {cm)
| A 180
EESENNLS G .
| — e o e ——— Ll —— _—
| C
= —
[ 1] 104
Accepted answers:
v 130
v’ 130cm
v 130 cm
Question Type: Free Text
Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,164,888
Question 57 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

ey was wallching iekevision al position B in a dark room as shown baiiow,

A -

—_ ] ——
] |

A B c ]

Describe where Jerry must be positioned in order to cast a shadow of about 170 cm long. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
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Question Type:
Date Added:
Last Modified:
QID#:

g p—
—

to attempt after the test has been completed.

Essay

Tue 28th Sep 2021
N/A

29,164,913

Correctly answered feedback

He must be positioned between Positions A and B.

Incorrectly answered feedback

He must be positioned between Positions A and B.

Question 58

ClassMarker - Manage Test

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 6 Science » Primary 6 Science (Term 2)

Ahmaid sed up the exparimant shown below: to find out the beat conductivity of four
differant matarials, & B. C and 0.

Adrrad recorded (he resulls of his experiment in e lable bedow

Material Time taken for ron pln to drog Put a cross
{min} ()
A 13
B 9
c 1% |
— T .I
5] 2

A. | Material

Time taken for iron pin to drop (min)

A

13

https://www.classmarker.com/a//tests/test/?test_id=1824054

Ahmad's sister said that he had recorded ONE of the results wrongly. Choose the ones below to
indicate the mistake he had made.
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B. | Material | Time taken for iron pin to drop (min)
B 9
ve Material | Time taken for iron pin to drop (min)
Cc 15
D. |Mmaterial | Time taken for iron pin to drop (min)
D 2

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 59

Muiltiple Choice
No

Tue 28th Sep 2021
N/A

29,164,982

differant matarials, & B C and 0.
e
iren pin
B \ij masent A
—[:| sreaberial B
_|'j|| msabadal O
§

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Term 2)

Ahmad sel up he exparimant shawn belew: to find ouf the heat conductivity of four

nealer
Abrrad recorded (he resulls of his experiment in e lable bedow
Matarial Time takan for lron pin to drop Put a cross
{mmiim} £
A, |
B 9
I: 1% !
— — T, .
5] 2

Explain your answer in the previous question. (1 mark)

https://www.classmarker.com/a//tests/test/?test_id=1824054

This question is designed for extended answers that parent/ teacher will have to assign and guide child
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to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,165,001

Correctly answered feedback

C is the second nearest material to the heat source. It would gain heat faster than A and B, thus
causing the wax to melt faster and the pin should take a shorter time to drop as compared to A and
B.

Incorrectly answered feedback

C is the second nearest material to the heat source. It would gain heat faster than A and B, thus
causing the wax to melt faster and the pin should take a shorter time to drop as compared to A and
B.

Question 60 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Ahmad sel up he exparimant shawn below: to find out the heat conductivity of four
differant matarials, &, B, C and .

bl B

matarial G

ﬁnm“\b: maserinl A
=0

Abrrad recorded (he resulls of Tis expariment in B able bedow

Matarisl Time takan for lron pin to drop Put a cross
{mmim} £
a, |
B 9
= 1% 1
— - .I
5] 2 J

Ahmad's sister also said that he did not conduct a fair test. Suggest what Ahmad can do to the set-up
to ensure a fair test. (1 mark)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,165,091

Correctly answered feedback

He can heat each material separately.
He can place each material at the same distance from the heat source.
He can provide an identical heater for each material.

Incorrectly answered feedback

He can heat each material separately.
He can place each material at the same distance from the heat source.
He can provide an identical heater for each material.

Question 61 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

S Min conducted &n expedment wusing a8 wound-up toy car, She wound-up the toy
oar oy tuming the key and recorded the distancs it tavelied on the fioor betors
coming to.a complete stop,

She recorded her resufts as shown below.

Mumbser of lurms of key Distamee travelbed (cim)
pd 3
= = — —
(5] o
a4 12

State the erengy conversion of the wound-up oy car whan il was released in
the boxes provided, 1]

= . Sound + Heat

Bnergy Enengy BNETTY

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay
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Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,165,099

Correctly answered feedback

Elastic potential > Kinetic energy + Sound and Heat energy

Incorrectly answered feedback

Elastic potential > Kinetic energy + Sound and Heat energy

Question 62 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Su Min conducted &n expenment using a wound-up toy car. She wound-up the toy
Car oy tuming thie key and recomded ihe distancs it tavalied on the fieor betors
coming to.a complete stop,

She recorded her resufts as shown below.
Mumbser af lurms of key Distames travelbed (em)
3

A -

4 &
& Q
8 12

What is the relationship between the number of turns of the key and the distance travelled by the toy
car? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,165,119

Correctly answered feedback

As the number of turns of the key increases, the distance travelled by the toy car also increases.

Incorrectly answered feedback

As the number of turns of the key increases, the distance travelled by the toy car also increases.

Question 63 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Su Min conducted &n expenment using 2 wound-up tay car. She wound-up the toy
£ar by tuming the key and recorded the distance it tavalisd on the floor betore

coming to.a complete stop,

She recorded her resufts as shown below.

Mumbser of burms of key Distames travelbed (em)
£
= I :
i) ]
] 12

Using the same toy car and floor surface, suggest one change Su Min could make to the car to enable
it to travel a further distance. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,165,128

Correctly answered feedback

Incorrectly answered feedback

Question 64

Turn the key a greater number of times than before.

Turn the key a greater number of times than before.

Primary 6 Science » Primary 6 Science (Term 2)

Su Min conducled &n expenment using 8 wound-up toy car, She wound-up the toy
car by tuming the key and recorded the distance it tavelied on the floor betore

coming to.a complete stop,

She recorded her resufts as shown below.

| Mumber of lurns of key

Diztance ravelbed {com)
]

4 [
[ 9
a 12

Explain why the toy car stopped moving after travelling a distance. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

https://www.classmarker.com/a//tests/test/?test_id=1824054
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to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Tue 28th Sep 2021
Last Modified: N/A
QID#: 29,165,136

Correctly answered feedback

All the kinetic energy of the toy car had been converted to sound and heat energy, thus it had no
more kinetic energy to move.

Incorrectly answered feedback

All the kinetic energy of the toy car had been converted to sound and heat energy, thus it had no
more kinetic energy to move.
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